[ Efficiency vs vertpos |
0.8

g F i :
P 2 e R e
> F : H
FOR0 -] ~EEERPRRRIS FUUPRRR S | A e
c r . .
o E : :
§ (O C] SRR EURRECERECRI- DRRIEES o
@ E : :
0.4 -t 8§ IRRARREERE RS
Y VSRR USROS | S
0]2:—----------? ----------------- -+ - -‘“i ------------
O o Rt I
N PRI T SV A S P
o +Wr : :
T r : :
04 r :
1_— ------- -1r--E--1r--4r- B TR o s TR
0.95L ;
1072 107 1

—— DM V000 RO0000000T —Gf
— B MWOOO%:EOOOOOOOO%:G
[Efficiend == BoM-Voaoi-Eadendonat—¢
—— DOM~V0001~R000000001—G

N 1.2
1

0.8

efticiency vs ver

0.6

0.4

0.2

Vs

Ratio
N

0.95!

10 20 30
TP vert z (cm)

[Effici

ency vs.sim PV z |

N 0.
>
2.0.09
£
50.08
20.07
3
20.06,
[}
(&}
£0.05
()
0.04
0.03
0.02

0.0

.........................................

..........................................

1.0

Ratio

I R

10 -8

6 -4 20 2 4 6 810
Sim. PV z (cm)



	Contents
	Page 1


